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; 100kN/mM%Z#B% % - -~ - —|3mZEB=zZ — ~ - — — [100kN/MZE#BZ % — - ~ — —[3mZEBRB — ~ — — —
Zn s 1.00 | 000 ~ 502 62.59 | #FnhLs | 0oo ~ ooo) 1.65 8.32 TS 1.00 | 500 ~ 543 62.59 | TS | 500 ~ 543 1.65 8.32
2 100kN/mM%Z#B% % - -~ - —|3mZEB=zZ — ~ - — — [100kN/MZE#BZ % — - ~ — —[3mZEBRB — ~ — — —
Zn s 1.00| 000 ~ 687 86.92 | #FnLst | 0.oo ~ o000 1.71 867 ZThLS 1.00 | 5.00 ~ 847 86.92 | TSt | 500 ~ 847 1.71 8.67
3 100kN/mM%Z#B% % - -~ - —|3mZEB=zZ — ~ - — — [100kN/MZE#BZ % — - ~ — —[3mZEEBRB — ~ — — —
Zn LS 1.00| 000 ~ 687 86.92 | #FnLst | 0.oo ~ o000 1.71 867 TS 1.00 | 5.00 ~ 847 86.92 | TSt | 500 ~ 847 1.71 8.67
4 100kN/mM%Z#B% % - -~ - —|3mZEB=zZ — ~ - — — [100kN/MZE#BZ % — - ~ — —[3mZEEBRB — ~ — — —
Zh Lot 1.00 | 000 ~ 665 83.90 | #nst | 0oo ~ 665] 1.85 9.34 Zh st 1.00 | 600 ~ 817 83.90 | NS | 500 ~ 817|185 9.54
100kN/mM%Z#B% % - -~ - —|3mZEB=zZ — ~ - — — [100kN/MZE#BZ % — - ~ — —[3mZEBRB — ~ — — —
d Zh Lot 1.00 | 000 ~ 665 83.90 | #nst | 0oo ~ 665] 1.85 9.34 Zh st 1.00| 600 ~ 817 83.90 | =nLS | 500 ~ 817|185 9.54
100kN/mM%Z#B% % - -~ - —|3mZEB=zZ — ~ - — — [100kN/MZE#BZ % — - ~ — —[3mZEEBRB — ~ — — —
6 Zh Lot 1.00 | 0.00 ~ 7.04 89.37 | #0000 ~ 704] 1.87 9.45 Zh st 1.00 | 6.00 ~ 9.06 89.37 | NS | 5,00 ~ 9.06| 1.87 9.45
100kN/mM%Z#B% % - -~ - —|3mZEB=zZ — ~ - — — [100kN/MZE#BZ % — - ~ — —[3mZEBRB — ~ — — —
7 Zh Lot 1.00 | 000 ~ 705 89.563 | #ns | 0oo ~ 705 1.81 9.14 Zh st 1.00 | 6.00 ~ 887 89.53 | NS | 500 ~ 887 1.81 9.14
100kN/mM%Z#B% % - -~ - —|3mZEB=zZ — ~ - — — [100kN/MZE#BZ % — - ~ — —[3mZEEBRB — ~ — — —
g Zh Lot 1.00 | 000 ~ 648 81.68 | #nst | 0oo ~ 648 1.79 9.03 Zh st 1.00 | 600 ~ 771 81.68 | =nLS | 500 ~ 771179 9.03
100kN/mM%Z#B% % - -~ - —|3mZEB=zZ — ~ - — — [100kN/MZE#BZ % — - ~ — —[3mZEEBRB — ~ — — —
g Zn s 1.00 | 000 ~ 698 88.55 | #FnLst | 0.o0 ~ 0.00| 1.59 8.02 ZThLS 1.00 | 5.00 ~ 9.62 88.55 | TS | 500 ~ 9.62 | 1.59 8.02
100kN/mM%Z#B% % ~ ImEHEAD ~ 100kN/mZ#B 2% ~ ImEBZD ~
Zn s ~ TS ~ TS ~ TS ~
100kN/mM%Z#B% % ~ ImEHEAD ~ 100kN/mZ#B 2% ~ ImEBZD ~
Zn s ~ TS ~ TS ~ TS ~
100kN/mM%Z#B% % ~ ImEHEAD ~ 100kN/mZ#B 2% ~ ImEBZD ~
Zn s ~ TS ~ TS ~ TS ~
100kN/mM%Z#B% % ~ ImEHEAD ~ 100kN/mZ#B 2% ~ ImEBZDB ~
Zn s ~ TS ~ TS ~ TS ~
100kN/mM%Z#B% % ~ ImEHEAD ~ 100kN/mZ#B 2% ~ ImEBZD ~
Zn s ~ TS ~ TS ~ TS ~
100kN/mM%Z#B% % ~ ImEHEAD ~ 100kN/mZ#B 2% ~ ImEBZD ~
ZhnLst ~ Zh LS ~ Zhst ~ Zh LS ~




